
	
	P6
	
	Enumerate sets and combinations of sets systematically, using tables, grids, Venn diagrams and tree diagrams
	

	
	
	
	
	


	
	Teaching Guidance
	

	
	Students should be able to:

· complete tables and /or grids to show outcomes and probabilities
· complete a tree diagram to show outcomes and probabilities
· understand that P(A) means the probability of event A

· understand that P(A/) means the probability of event not A

· understand that P(A ( B) means the probability of event A or B or both
· understand that P(A ( B) means the probability of event A and B
· understand a Venn diagram consisting of a universal set and at most two sets, which may or may not intersect
· shade areas on a Venn diagram involving at most two sets, which may or may not intersect
· solve problems given a Venn diagram
· solve problems where a Venn diagram approach is a suitable strategy to use but a diagram is not given in the question.
	


	
	Notes
	

	
	Students should know the following notations and the associated shaded area on a Venn diagram.
	

	
	
	


	
	Examples
	

	
	1
	You are given that P(A) = 0.7

Work out P(A/)
	

	
	2
	In the Venn diagram 
( = students in a year group

A = left-handed students

B = vegetarians

	

	
	
	(a)
	Write down P(A ( B)
	

	
	
	(b)
	How many students are in the year group altogether?
	

	
	
	(c)
	A student from the year group is chosen at random.

What is the probability that the student is a right-handed vegetarian? 
	

	
	3
	On the Venn diagram, shade the area that represents P/ ( Q
	

	
	4
	A garage has 50 cars for sale.


16 of the cars have air conditioning and ABS brakes.


32 of the cars have air conditioning.


18 of the cars have ABS brakes.

Work out how many of the cars do not have air conditioning or ABS brakes.
	


	
	5
	A running club has 120 members.



89 of the members take part in road races.



54 of the members take part in fell races.



17 of the members do not run in road or fell races.

Use this information to complete the Venn diagram.



R represents those members who run in Road races.



F represents those members who run in Fell races.
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A ( B to mean the intersection of A and B
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A ( B to mean the union of A and B
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A / to mean everything not in A
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A / ( B to mean everything not in A that is in B
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A / ( B to mean the union of A / and B





  A	B





 (





(A ( B) / = A / ( B / to mean everything�not in the intersection
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(A ( B) / = A / ( B / to mean everything�not in the union
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